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[ A ]

1.
massimo e minimo della funzione   
M =
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equazione con parametro               
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3.
equadiff
y” – y  = - 2 senx

4.
integrale                                                              
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complessi
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6.
limite                                                                       -2

7.
derivabilità
  non esiste
8.
Taylor
  x – x2/2 + x3/6
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1.
massimo e minimo della funzione   
M =
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2

 

+

 ,   m = 0
2.
equazione con parametro               
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3.
equadiff
y” = - cosx

4.
integrale
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5.  complessi
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6.  limite
                                                 -2

7.   derivabilità
                                                non esiste

8.  Taylor
                                                x – x2/2 + x3/6
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1.   massimo e minimo della funzione   
   M = 
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2.    equazione con parametro                                
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3.
 equadiff                                                                 y” – 2y  + y = e2x
4.
integrale                                                               
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6.
limite
-1
7.
derivabilità
 0
8.
Taylor
x – x2/2 + 2 x3/3
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massimo e minimo della funzione   
M =
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equazione con parametro                                
[image: image14.wmf])

 

,

e

 

(

)

e

 

,

 

0

 

(

3

-5

¥

+

È


3.
equadiff
y” – 2 y’ + 5 y = 4 x ex
4.
integrale
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6.
limite
 -1
7.
derivabilità
  1
8.
Taylor
  x – x2/2 + 2x3/3
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